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AlCl, | SiCly [ PCly SCl,

801 ‘714 - <70 |-91 |-80

NaZO[MgO ALO; | SiO; | P40y | SO, | CLO7

1190 | 3080 |[2050 | 1730 | 560 -73 | -90

Aluminium chloride AICl;, has an unexpected bond type and structure.
State the type of bond and the structure in AICl; (2 marks)
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iii. Why is the melting point of AICI; not indicated in the table above?

iv. A piece of blue litmus paper is placed in a solution of sodium chloride and a s
aluminium chloride. Explain what would be observed in each case.

a. Sodium chloride solution
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Explain the large difforence in the melting point of the
Al ot a
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2. Suate Gay Lussac’s law (1 mark) ; :
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o " 10cm® of methane (CHy) gas istxploded with 150cm? of air containing 20% oxygen and 80%
gen. The products were allowed to cool to room temperature. What will be the total volume
gases at the end of the reaction? (3 marks)
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b. Give the open structures of:-
i. 3-chlorohex-1-yne
H -+ L F N
g &) K
H-CZc—c-C—C~CH
' | | |
i = 1 (o]
ii. CH;OH
i+
i
H_cCc—ot
]
+
vi. What is meant by Isomerism?
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vii.  Draw and name two Isomers of butane.
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47 10cm® of methane (CHy) gas i exploded with 150cm? of sir containing 20% oxygen !
nitrogen. The products were allowed to cool to room temperature. What will be the Dﬂ M
of the gases at the end of the reaction? (3 marks)

Give the open structures of:
i. 3-chlorohex-1-yne (2 marks)

ii. CH3;OH (2marks)

vi. What is meant by Isomerism? (1 mark)
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(1) During extraction of sulphur-

........... st W hen | Sulplad..

(iv). Write an equation for the reaction of sulphur cmAjew oxide and oxygen gas
........................ @252 %50 fap.
(b). The flow diagram below shows some of the process involved in production of sulphuric (vi)acid.
to answer the questions that follow.

Substance A
Sulphur (IV) oxide
+ 2
! | /
: dxygen Reaction Sl sane Absorption Oleum B
M | chamber chamber
Name substance A.
1L
Hi.
be used for this process.
T 1 ._.n.u..‘.a‘.‘«...;...: ...... (@-3 STUTR SRpRRIET A R 0
E: IV. Give two reasons why vanadium (v) Oxide is the commonly used catalyst.
. FA b SR -

3 ‘ ‘* sh ................
V. mxv_&n the reason why sulphur (vi) oxide is not dissolved directly in water
sulphuric (vi) acid. :

.\:\PS&?S) ...... & @Ingiabg?

VI.  Give 2 uses four use of sulphuric (vi) acid.




